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5. l)l 3% &Y 29 Al
Jl. ZAHLHE
OO0 ZAPIZE : 20088 122 8 ~ 1282 162 (5Y)
O ZAKIE : 224 ZAHAS SZA, OIA 225 =FHA(20HA)
Ll. ZAIZ L

11 128 JIEINL

- 128 lss5 AlzMF D 3 Jldd&E=2 820 Z2+=&0l

= =L 7I2(c) S5E(%) S&(m/s) | 2+ (mm)
123 8 H| 6.7 61.0 0.9 0.0
128 1Y i B 11.6 49.5 1.8 -
128 12 =t 6.6 43.9 2.3 -
128 13Y - 8.0 43.9 2.2 -
128 15 - 4.4 49.0 1.2 -
128 16Y - 5.1 64.0 1.1 -
128 7 - 5.3 50.4 1.9 5.5

@® EE2ERUI(TSP)Y BRsTes 77ug/m(78~98)2 M HH ZAdI¥oH H
(74pg/m)BCH =42,

x
o o
=
®
3
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00
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@ Pbe B =S= 0.0692mg/m(KEE, 28 0.0358~0.1183)2 M E HHI

-

SototAd D, B= =FY0 SHIIE 0.5ug/m Olot2 WIIFIIE

AL
@Cde B sk= B= SZU0 M3 SLotH =2 EES UEHE.
@ Cre 872 s&= 0.0158ug/m(X&EE, &8 0.0026~0.0477ug/m)2 N HH|
, =2 (0.0203ug/m)BR=CIt BAMS(0.0114ug/m)ECH =



@ Cull 87 s5= 0.0485u8/m(NEE, 2E 0.0172~0.1059kg/m")2 & & CHY]

2401, sEs Badsktes 0.0539w/mE BAS B 0.0430ug/m 2L

& Mne B3 s&= 0.1757mg/m (XIEE, L8 0.0791~0.43694g/m )2 & & CHY

2401, sEs Badske 0.2006/mE BAES B 0.1508ug/m 2L

& N2 27 s&= 0.0159/m(XN&BE, 2L 0.0057~0.0503u/m) =2 &S CHY

_ T
- & TSP Pb Cd Cr Cu Fe Mn
o1& o1= - 0.5 - - - - -
8 (1st) 78 0.1149 =45 0.0315 | 0.0834 | 3.9515 | 0.3269
1224(2nd) 70 0.0383 =45 0.0051 0.0232 | 1.4231 0.0874
1324(3rd) 73 0.0664 =45 0.0117 | 0.0410 | 1.6984 | 0.1355
152 (4st) 67 0.0738 =45 0.0105 | 0.0373 | 1.2647 | 0.1321
162 (5st) 98 0.0529 =45 0.0203 | 0.0576 | 4.0129 | 0.1965
20084 128 &2 77 0.0692 =d= 0.0158 | 0.0485 2.4701 0.1757
ESPN 69 0.0383 - 0.0051 0.0232 1.2647 0.0874
= CH 12 0.1149 - 0.0315 0.0834 | 4.0129 0.3269

20084 118 &2 88 0.0555 0.0532 | 2.4096 @ 0.1849

I
oY
1]
o
o
o
N
w

, 2SS HoasTe 0.0191ug/m2 HAS E2 0.0126wmg/m 2L

| @ oug/m
Ni

0.0337
0.0073
0.0107
0.0111
0.0165
0.0159
0.0073

0.0337
0.0214



& 28972 I 2828 =sT= Cr Cu, Fe, Mn, Ni2 ME0id] SItst¥ 2, Pb
I ESEERUIsEs 24003
@ 2AXYo E2E 2HASsEQ HlWoltH FYES TSP, Cr, Mn, Ni, &20|
= H UEIS2M, Pb, Cu, Fe, Cd &322 Y LIEIGS.
o4, &Y a5 ALl
S| o oug/m
= TSP Pb Cd Cr Cu Fe Mn Ni
HANE-1 69 0.1115 | 2= | 0.0154 0.0609 @ 2.8779 @ 0.2169 & 0.0172
HNE-2 76 0.0358 | E2A= | 0.0026 = 0.0172 | 1.2545 @ 0.0791 0.0057
HANE-3 82 0.0731 A= | 0.0096 0.0420 | 1.9356 @ 0.1450 @ 0.0106
HNE-4 78 0.0872 @ E2A= | 0.0147 @ 0.0448 @ 1.4795 @ 0.1619 = 0.0156
HMNE-5 98 0.0527 | 2= | 0.0146  0.0503 @ 2.0076 @ 0.1510 & 0.0139
2ots—1 86 0.1183 | A=  0.0477 @ 0.1059 @ 5.0252 = 0.4369 & 0.0503
Z2o=z-2 63 0.0409 @ E2A= | 0.0076 = 0.0292 @ 1.5917 @ 0.0957 = 0.0090
2o=-3 65 0.0597 @ E2= | 0.0138  0.0399 = 1.4613 @ 0.1259 @ 0.0108
Zots—4 57 0.0603 @ E2A= | 0.0063 @ 0.0298 @ 1.0499 @ 0.1024 = 0.0065
Z2o=z-5 97 0.0531 A= | 0.0261 0.0649 | 6.0183 @ 0.2420 @ 0.0191
HNESH 81 0.0720 2= | 0.0114 0.0430 1.9110 0.1508 @ 0.0126
S0=sHP 74 0.0665 =ZZ | 0.0203 0.0539 @ 3.0293 0.2006 @ 0.0191
20084 128 F=QEAl E€4Z HIzasedr og
- TSP Pb Cd Cr Cu Fe Mn Ni
a g 77 0.0692 2= 0.0158 | 0.0485 @ 2.4701 0.1757 = 0.0159
2 A 65 0.0802 0.0021 0.0197 0.0810 2.4365 0.1138 @ 0.0168
o 2 - 0.0790 0.0016 = 0.0070 @ 0.0872 1.4476 = 0.0533 = 0.0079




